A silia

Material code Description Technical details ITP (Inspection test Report) S
1 1008861 Hexagon bolt 10.9 DACROMET, I1SO 4014 (DIN 931), M16X80 | W0102-Q06-003-SPEC-304-W2E-001-4-GE and 961PW006 1,303
2 1008867 Head hexagon bolt 10.9 DACROMET, 1S04014, M36X270 W0102-Q06-003-SPEC-304-W2E-001-4-GE and 961PW006 8,064
3 1009434 Hexagon bolt 10.9 DACROMET, ISO 4014, M36X310 W0102-Q06-003-SPEC-304-W2E-001-4-GE and 961PW006 18
4 1009453 Hexagon socket head cap screw 10.9 DACROMET, I1SO 4762, M24X90 W0102-Q06-003-SPEC-304-W2E-001-4-GE and 961PW006 132
5 1009467 Hexagon head bolt 10.9 DACROMET, I1SO 4014, M36X190 W0102-Q06-003-SPEC-304-W2E-001-4-GE and 961PW006 2,283
6 1009468 Hexagon head bolt 10.9 DACROMET, I1SO 4014, M36X420 W0102-Q06-003-SPEC-304-W2E-001-4-GE and 961PW006 724
7 1009469 Hexagon head bolt 10.9 DACROMET, ISO 4014, M24X170 W0102-Q06-003-SPEC-304-W2E-001-4-GE and 961PW006 1,734
8 1009475 Hexagon head bolt 10.9 DACROMET, I1SO 4017, M12X110 W0102-Q06-003-SPEC-304-W2E-001-4-GE and 961PW006 38
9 1009587 Hexagon screw 10.9 DACROMET, DIN 933, M30X70 W0102-Q06-003-SPEC-304-W2E-001-4-GE and 961PW006 490
10f 1009588 Hexagon screw 10.9 DACROMET, DIN 933, M16X50 W0102-Q06-003-SPEC-304-W2E-001-4-GE and 961PW006 1,094
11| 1009589 Hexagon screw 10.9 DACROMET, DIN 933, M20X110 W0102-Q06-003-SPEC-304-W2E-001-4-GE and 961PW006 17
12 1012313 Hexagon head screw 10.9 DACROMET, I1SO 4017, M16X60 W0102-Q06-003-SPEC-304-W2E-001-4-GE and 950PW856 20
13| 1009393 Hexagon bolt 10.9 DACROMET, I1SO 4017, M20X45 W0102-Q06-003-SPEC-304-W2E-001-4-GE and 961PW006 236
14 1009394 Hexagon bolt 10.9 DACROMET, ISO 4014/DIN 931, M30X240 | W0102-Q06-003-SPEC-304-W2E-001-4-GE and 961PW006 197
15 1009396 Hexagon bolt 10.9 DACROMET, ISO 4014, M20X90 W0102-Q06-003-SPEC-304-W2E-001-4-GE and 961PW006 165
16 1009398 Hexagon nut 10 DACROMET, ISO 7042, M30 W0102-Q06-003-SPEC-304-W2E-001-4-GE and 961PW006 123
17| 1009399 Hexagon nut 10 DACROMET, ISO 7042, M20 W0102-Q06-003-SPEC-304-W2E-001-4-GE and 961PW006 141
18| 1012281 Hexagon head bolt 10.9 DACROMET, I1SO 4014, M36X320 W0102-Q06-003-SPEC-304-W2E-001-4-GE and 961PW006 386
19| 1009578 Hexagon head bolt 10.9 DACROMET, ISO 4014, M36X230 W0102-Q06-003-SPEC-304-W2E-001-4-GE and 961PW006 885
20| 1011788 Hexagon nut 10 DT/DS, ISO 4032, M42 W0102-Q06-003-SPEC-304-W2E-001-4-GE and 961PW006 20,000




